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1, {a) -Cﬁlcu]ate cross-elasticity of demand between Coffee (X)
and Tea (Y) from the following data and comment on
the relationship between the two goods : 5
Before After
’ Price ' Ql'lantity Price Quantity
{Rs./Unit) (Unib’Mon_th) (Rs./Unit)] (Unit“Month)
Coffee X p.{] 40 X 30
Tea Y 4 50 & £
)

Distinguish between a *‘Substitute™ and a *‘Complement™

of a good. When both the price of a substitute and

price of a complement of good X rise, the demand

for X :

() Rises

(i) Falls

5
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(i) Remains unchanged or
() Al of the above are possible.
Ex.p!ain, giving reasons, which one is the correct
alternative.
(c) Differentiate between own-price elasticity of ;ierﬁand and -
cross-price elasticity of demand. 5
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(d)

(e}

(5. 9583

Or
(o)
Fbr the market demand schedule in the give1‘1 tgblé, find
the price elasticity of demand for a movem.enf from ]looint

A to point C, from point C to point A and mid—Way

between A and C . 5
Point A B s D
Py .7 6 5 | 4
Qy 500 -1 750 | 1250 | 2000

Prove - that on.a straight line demand curve, price |
elasticity of demand decreases continuously from
infinity at the price axis, to zero at the duantity
Axis. 5

Prove that for the straight line demand curve given by.

P =a - bQ, the slope of the MR curve is twice the

- slope of the demand curve. ' 5
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Suppose a consumer spends-her entire income on’ the

. purchase of two goods. Explain why a consumer will

choose a market basket so .that the marginal rgte of
sul;stitute between the two poods is equal tp their pricg';
ratio. %
Draw indifference map in the follpwing s'itua‘ti'c'ms '#nd
explain its chz?racteristics : 2'/:+2Vz+2'2r“77:
() *‘Economic good” on the vertical axis
and ““Economic Bad” on the horizontal
axis. '
') “Economic Bad” on both the axes.

(iin) ‘*Economic good™ on vertical axis and ‘‘neuter

good” on the horizontal axis.

PTO.



( 8 ) 9583

(%) o1 Wi fr wF sl ol w s
T Tl B T W wE w3 s
W%'%ﬂmmﬁwmﬁaﬁ
qim @fs wm.ma w1 dwa g S
Tegel ® dw R BT sum @ O
¥ 7

(@) freafafan Refdl §  ofomm arf
ot st gw Pl w sem
wifo
() ‘efE e wem eaw W el i

”@lmﬁ’ﬁﬁtﬂm{ w) o
() ‘enfdn g’  aE w |
(i * snfde m'@:ﬂ%&iwaﬂ?‘m
st A o W



©

(@

(Mm

( 9 , 9583

Or

(3re=)

- Explain the effects of Food Subsidy Vs. Lump-sum

subsidy on the welfare of the recipients. Why will Govt.

prefer food subsidy to lump-sum sul;sidy ? 74
Starting from the position of consumer equilibrium shc;w
the substitution and income effect pf a price reducation
for a normal good. ' 7V
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What ére the three stages of production ? Explain using
tcital‘ product, averaé,e product and margi'nal‘ product
c':urves. In which stage of production will a rational
producer produce and why ? 7 7 7'
Show. increasing constant and diminishing return; .to
scale with the help bf isoqu_am map. If there_arer
constant returns to scale, there may be diminisﬁing
returns to factor. Prove with the help of
isoquant, ) A
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What are ri:ige lines ?VWhat is the. relevance of these’
lines in theoq of .production ? 5
Write a short note on “Cobb—bouglas” prpduqtion
function. : 5
Derive the_long run tota.l cost curve ofra firm from its

expansion path, 5
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What is the dif’fen?née bet\yeen economies of scale,
economies of scope and the reduction in average corft
as a result of learning ? -7‘/2
Derive long-run average cost curve from the
short run plant curves. Also explain the relationship
between LAC‘cur,ve and short rur; a'vcrage cost

curves. T4
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In the ]c;nlg-run equilibrium ali firms in a perfectly
competitive industry earn zero economic profit. Is it
true '?‘ Explain. using diagrams. _ T
What is subsidy ? Explain how the benefit of a subsidy
is split between buyers and sellers in @ competitive
market depending on the elasticity of demand

curvé and supply curve. T4
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Derive long run supply curve of a perfectly competitive

industry in case of  constant and increasing cost

conditions, . ‘ T4
What is meant by dead weight loss ? Why does a

price ceiling usually result in a dead weight

. loss ? T4
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| Or

(3reram)
Explain the concépt of stable and unstable equilibrium
as given by Walrﬁs and Mars}.1all. "4
What is th.e difference between :  2U4+2%+2V=Th
(D  Accounting proﬁt anfi Economic profit
{in Fige_:d ‘costs and Sunk costs

(iif) Inferior goods and Giffen goods.
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